Algebraic Expressions
Exercise 8A

Q1

Answer :

(1) x increased by 12 is (x+12).
(1) v decreased by 7 is (y-T).
(111) The difference of a and b, when a=b is (a-b).
(1v) The product of x and v 1s xy.
The sum of x and v is (X+¥).
So, product of x and v added to their sum 1s xy+H{x+Y).
(v) One third of x is 3.
The sum of a and b is (a+b).

x(a+b)
3

.". One-third of x multiplied by the sum of aand b = % s (a + b) =

(vi) 5 times x added to 7 times y = (5 x X) + (T x y), which is equal to 5x+ Ty.

(vit) Sum of x and the quotient of v by 5 s x + %

(viii) x taken away from 4 is (4-x).

(1xx) 2 less than the quotient of x by v is ; —2

(x) x multiplied by itself is x x x = x2.

(xi) Twice x increased by v is (2 X X) +y = 2x+¥.

(xif) Thrice X added to y squared is (3 X X) + (y x ¥) = 3x +y%.

(xiii) x minus twice yis x — (2 x y) = x — 2y.

(xiv) X cubed less than y cubed is (y x ¥y x ¥) — (x x x x x) = y* —x7,
(xv) The quotient of x by 8 is multiplied by y is ’—s‘ XY = %.

Q2

Answer:

Ranijit's score in English = 80 marks

Ranijit's score in Hindi = x marks

Total score in the two subjects = (Ranjit's score in English + Ranijit's score in Hindi)
~ Total score in the two subjects = (80 + x) marks

Q3
Answer :
(b xbxbx_.15tmes=bl®
(i) y xyxyx . 20tmes =y
(iii)1dxaxaxaxaxbxbxb=14x(axaxaxa)x(bxbxb) —14a*b®
()6 xxxxxyxy=6x(xxx)x (yxy)=6xy*
(V3xzxzxzxyxyxx=3x (zxzxz)x (yxy)xx=32"y"x

Q4
Answer :
DXyt = (XXX) X (FXYXYXY) =XXXXYXYXYXY

(

(B =6X (FXyXFXYyXY)=6XYXYXYXYXY
(i) Oxy* 2 =9xXxx (yX¥) X2=9XXXYXYXZ

(

iv) 10a3b3c3=10x(axaxa) x(bxbxb) x(cxcxc):lﬂxaxaxaxbxb

xbxexexc



Algebraic Expressions
Exercise 8B

Q1l

Answer :

(iya+b
Substituting a = 2 and b = 3 in the given expression:
2+3=5

(ii) a> +ab
Substituting a = 2 and b = 3 in the given expression:
(2)°+(2x3)=4+6
=10

(i) ab — a?
Substituting a=2andb=23inthe given expression:
(2x3)—(2)" =64
=2

(iv) 2a-3b
Substituting a=2andb=23inthe given EXDFESSiOﬂ:
(2x2)—(3x3)=4—19
=-5

(v) 5a® — 2ab
Substituting a=2 and b=3 in the given expression:
Bx (2 —2x2x3=5x4—-12=20—12
=8

(vi) a® — b*
Substituting a=2 and b=3 in the given expression:

23 —2x2x2-3x3x3=8-27
=—19

Q2

Answer:

(i) 3x-2y+dz
Substituting x = 1, y = 2 and z = 5 in the given expression:
Ix(1) -2 x(2)+4 x(5)=3—-4+20
=19

(i x*+y*+2°
Substituting x =1,y =2 and z = 5 in the given expression:
12492 452 = (1x1) + (2x2) + (5x5) —1+4+25
=30
(iii) 2x% — 3y% + 2*
Substituting x =1, y =2 and z = 5 in the given expression:
2 2
2 x (1) ~3x (2) +52=2x (1x1) ~3x (2x2) + (5x5) —2-12+25
=15



(V) Xy +yz —2X
Substituting x = 1, y = 2 and z = 5 in the given expression:
(1x2)+(2x5)—(5x1)=2+4+10-5
=7

(v) 2x%y — 5yz + Xy*

Substituting x =1, y =2 and z = 5 in the given expression:
2x (1) x2-5x2x5+1x(2)?=4—-50+4
=42

wiyzd —y? — 2

Substituting x = 1, y = 2 and z = 5 in the given expression:

13—23—53=(1x1x1)—(2x2x2)—(5x5x5)=1—8—125
— 132

Q3

Answer :
hp’+q*>—1*

Substituting p =-2, g =-1 and r = 3 in the given expression:
(—2)2 4+ (-1 — (3 = (—2x-2)+(—1x —1) — (3x 3)
=44+1-0=—4
(i) 2p* —q% + 3r?
Substituting p =-2, g =-1 and r = 3 in the given expression:
2x (=2 —(-1)+3x (3" =2x (—2x —2) —(-1x—1)+3x(3x3)
(ilp—q—r

Substituting p = -2, @ = -1 and r = 3 in the given expression:
(-2)—(-1)—-(3)=—2+1-3
=—4

i) p* +q® +1° + 3par

Substituting p =-2, g =-1 and r = 3 in the given expression:

(-2 4+ (-1 +(3)* +3x (-2x —1x3)
=(2x2x -2+ (-1x-1x-1)+(3x3x3)+3x(6)
=(—8)+(-1)+(27) +18
=136
(v) 3p°a + 5pa’ + 2par

Substituting p = -2, g =-1 and r = 3 in the given expression:

3x(—2)? x (1) +5x(—2) x (1) +2 x (—2 x —1 x 3)

=3x(2x-2)x(-1)+5x(-2)x(—1x-1)+2x(—2x—-1x3)
=-12-10+12
=-10

wip*+qt -1

Substituting p = -2, g =-1 and r = 3 in the given expression:

-2+ (-1 -3

=(-2x—2x -2x -2)4(-1x—-1x—-1x—-1)—(3x3x3x3)
=16+1-81
— 64



Q4

Answer :

(1) Coefficient of x in 13xis 13.

(i) Coefficient of y in -5y is -5.

(iify Coefficient of a in 6ab is 6b.
(iv) Coefficient of z in -7xZ is -7x.
(v) Coefficient of p in -2pqr is -2qr.
(vi) Coefficient of y2 in 8xy2z is 8xz.
(vii) Coefficient of x3 in x%is 1.
(viiiy Coefficient of x2 in -xZ is -1.

Q5

Answer:

(i) Numerical coefficient of ab is 1.

(i) Numerical coefficient of -6bc is -6.

(i) Numerical coefficient of 7xyz is 7.

{iv) Numerical coefficient of -2x%y2z is -2_

Qé

Answer:

Aterm of expression having no literal factors is called a constant term.
(i) In the expression 3x? + 5x + 8, the constant term is 8.

(ii) In the expression 2x2 - 9, the constant term is -9.

(i) In the expression 4y2 —by+ % the constant term is %
(iv) In the expression 25227 yz— % , the constant term is — %_

Q7

Answer:

The expressions given in (i), (iii), (vi) and (viii) contain only one term. So, each one of them is monomial.
The expressions given in (ii) and (ix) contain two terms. So, both of them are binomial.

The expressions given in (iv) and (v) contain three terms. So, both of them are trinomial.

The expression given in (vii) contains four terms. So, it does not represents any of the given types.

Q8

Answer:

(i) Expression 4x° - 6y* + 7x2y — 9 has four terms, namely 4x° -6y* , 7x%y and -9.
(i) Expression 9x* - 5z% + 7z% y - xyz has four terms, namely 9x3 | -5z% 723y and -xyz.

Q9

Answer:

The terms that have same literals are called like terms.
(i) aZand 2a? are like terms.

(i) —yz and %zy are like terms.
(i) —2xy? and 5y2x are like terms.
{iv) abZc , acb? | b?ac and cab? are like terms.



Algebraic Expressions
Exercise 8C

Q1
Answer:
(i) Required sum = 3X + 7x
= (3+7)x = 10x
(i) Required sum = 7y +(-9y)
= (7-9)y =-2y
(ili) Required sum = 2xy +5xy + (—xy)
= (2+5-1)xy = Bxy

(iv) Required sum = 3x+2y
(v) Required sum = 2x2 + (- 3x2) + 7x2
=(2-3+7)x2 = 6x2
(vi)Required sum = TXyZ + (- SXyZ) + 9XyZ + (—8xyZ)
= (T-5+9-8)xyz = 3xyz
(vii) Required sum = 6a2 +(- 4a%) + 10a? +( -8a?)
=(6-4+10-8)a® = 4a?

(viii) Required sum = x% - a2 + (-5x2 + 2a?) +( —4x% + 4a2)
Rearranging and collecting the like terms = x2 -5x2 -4x2 -a2 + 2a? +4a?

= (1-5-4)x2 +(-1+244)a2
= -8x2 + 5a2

Q2



Answer:

(i)

r — 3y —2z
b + Ty — =z
—Tz — 2y + 4z
—x +2y + =z

(i)
m? — 4m + 5
—2m? + 6m — 6
—m? —2m — 7
—2m? +0xm—38
= —2m? +0—-8= —2m®—8

(il
22 — 3zy + o
— 722 — Bxy — 27

4z + Ty — 63°

—x2 —Tey —7y°

(V)

dry — Byz — Tzx
— bry + 2yz + zz
—2zy — 3yz + Jz2zx

—3xy —6yz —3zx

Q3

Answer :

(i) Sum of the given expressions
=(3a-2b+5c)+H2a+5b-Tc)+(-a-b+c)
Rearranging and collecting the like terms

= Ja+2a-a-2b+5b-b+5c-Te+C

=(3+2-1)a + (-2+5-1)b + (5-T+1)c

= da+2b-c

(i) Sum of the given expressions

= (Ba - 6ab + 5b) + (-6a - ab - 8b) + (-4a + 2ab + 3b)
Rearranging and collecting the like terms

=(8-6-4)a + (- 6 —1+2)ab + (5- 8+ 3)b

=-2a-bab+0 =-2a - 5ab

(iiiy Sum of the given expressions
(23 -2+ Tx-8) + (-3 + 2 - dx+ 1)+ (3 - 6x+ 52 - x2)
Rearranging and COIIEC’tiI’]g the like terms
=2x3-5x3 — %% - 3x2 + 262 + 532 +7X-4X-6X-8+143
= (2-5-1)x3 +(-3+245 )32+ 7-4-6)x-4
= 4x3 +4%2-3%-4

(iv) Sum of the given expressions
= (22 - Bxy + Ty? — Bxy2)+( 2xy? + 6xy — y2 + 3x)+( 4y? — xy — %2 + xy?)
Rearranging and collecting the like terms
=22 +3x% = x2 + Ty2 - y2 +4y? - By + 6xy — xy— Bxy? +2xy? + xy?
=(243- 12 + (7 -1 +4)y2 + (-8 + 6 —1)xy + (- 8 +2 +1)xy?
=4x2 +10y2 - 3xy -5xy2



(v) Sum of the given expressions
= (3 +y3 - 23+ 3xyz)+(- 3 + y3 + 22 - Bxyz) (3 - y3 - 28 - Bxyz)
Rearranging and collecting the like terms
=x3 3+ +y? 4y - y3 73 4 28 - 23 4 Byz-Buyz-8xyz
= (=110 + (1+1-1)y3 + (-1+1-1)23 +(3-6-8)xyz
=x}+y? - 73 Mxyz

(vi) Sum of the given expressions
=(2+x— %%+ 6x7)H(—6 -2 + 4x? =3P+ 2 + x%)+( 3 - 303 + dx - 217
Rearranging and collecting the like terms
= 6x3 333 3 x2 +4x%+ 2 2024 ¥ —2x+ Ax+2-6+2+3

= (B-3-1)3+(-1+4+1-2)x%+(1-2+4)x+1

= 2x342x%43x+1

Q4

Answer :

Change the sign of each term of the expression that is to be subtracted and then add.

(i) Term to be subtracted = 5x
Changing the sign of each term of the expression gives -5x.
On adding:

2x4(-5X) = 2x-5X
= (2-5)x
= -3x

(i) Term to be subtracted = -xy
Changing the sign of each term of the expression gives xy.
On adding:

BXY+XY
= (6+1)xy
= }"xy

(iii) Term to be subtracted = 3a
Changing the sign of each term of the expression gives -3a.
On adding:

Sb+(-3a)
=5b-3a

(iv) Term to be subtracted = -7x

Changing the sign of each term of the expression gives 7x.
On adding:

y+T7x

{v) Term to be subtracted = 10x2
Changing the sign of each term of the expression gives -10x2.
On adding:
=732 + (-10x2) = -7x2 102
= (-7-10)%2
=-17%2

(vi) Term to be subtracted = a2 - b?
Changing the sign of each term of the expression gives -a? + b2
On adding:

bZ_ 32_'_(_32_‘_ DZ) - bZ_ 32—32+b2

= (1+1)b? +(-1-1) a2

=2p? - 23

Q5



Answer :

Change the sign of each term of the expression that is to be subtracted and then add.
(i) Term to be subtracted = 5a + 7b - 2c

Changing the sign of each term of the expression gives -5a -7b + 2c.
On adding:

(3a -Tb+4c)+(-5a-Th+2c)=3a-7h +4c-53-Tb + 2C

= (3-5)a+( - 7-7)b + (4+2)C

=-2a-14b +6cC

(ii) Term to be subtracted =a - 2b - 3c

Changing the sign of each term of the expression gives -a +2b + 3c.
On adding:

(-2a +5b - 4c)+(-a+2b+3c) =
=(-2-1)a + (5+2)b +(-4+3)c

=-3a+Tb-c

-2a+5b - 4c-a +2b + 3c

(iify Term to be subtracted = 5x2 — 3xy +y2
Changing the sign of each term of the expression gives -5x2 + 3xy - y2.

On adding:

(732 — 2xy — 4y2)+{(-5x2 + 3xy - y2) = 7x2 - 2xy — 4y2-5x2 + 3xy - y2
= (7-5)%% +(-2+3)xy +(~4-1)y?
= 22 +xy - 5y2

(iv) Term to be subtracted = 6x3 - 7x2 + 5x - 3

Changing the sign of each term of the expression gives -6x3 + Tx2 - 5x + 3.
On adding:

(4-5x+6x2 - 8x3)+(-Bx3+ Tx2-5x+3) =4 -5x+6x2 - Bx6x + Tx2-5x + 3
= (-8-6)x3 +(6+7p2 +(-5- 5)x + 7

= 14x% + 13x2 - 106 + 7

(v) Term to be subfracted = x3 + 2x%y + 6xy2 - y3

Changing the sign of each term of the expression gives -x3 - 222y - Gxy? + y2.
On adding:

(v3 = 3xy2 = dPy)+(-x3 - 2x%y - Bxy? + y3) = 3 - Bxy? - Aoy - 2%y - Bxy? + 2
= %3 +{- 2-4)x2y +(-6-3)xy? + (1+1)y?
=% - 6x?y - 9xy? + 2y3

vi) Term to be subtracted = —11x2y2 + Txy -6
Y Xy

Changing the sign of each term of the expression gives 11x2y2 -7xy +6.
On adding:

(9x2y2 —6xy + 9)+(11x3y2 -Txy +6) = 9x2y2 —6xy + 9+11x%y2 -Txy +6

= (9+11)%3y2 (-7T-6)xy + 15
= 2022 —13xy +15

(vii) Term to be subtracted = -2a + b + 6d

Changing the sign of each term of the expression gives 2a-b-6d.
On adding:

(5a - 2b -3c)+(2a-b-6d ) = 5a - 2b -3c +2a-b-6d
= (5+2)a+(- 2-1)b -3c -6d
=Ta - 3b-3c-&d

Q6



Answer :

(iy2p*-3p2+4p-5-6p*+2p2-8p-2+6p+8
Rearranging and collecting the like terms

= (2-6)p? +{-3+2)p? + (4-8+6)p — 5-2+8

=-4p? —p? +2p +1

(i) 2%2 — Xy + 6X — 4y + 5xy — 4% + 6x% + 3y
Rearranging and collecting the like terms
= (2+6)x2 +(—1+5) xy + (6-4)x +(- 4+3)y
= 8x2 + dxy + 21—y

(i) x*-6x3+2x - T+ -x+ 52 +2 - x*
Rearranging and collectingthe like terms
= (1-1)x* +(= 64703 + 532 +(2-1)x-T+ 2
=0+ %3+ 52 +x-5
=3 + 5%2 +%-5

Q7

Answer :

Adding:

(3x2 - 5x + 2) + (-5x2 - 8x + 6)
Rearranging and collecting the like terms:
(3-5)x2 +(— 5-8)x + 2 +6

=-2x2 - 13x + 8

Subtract 4x2 — 9x + 7 from -2x2 — 13x + 8.

Change the sign of each term of the expression that is to be subtracted and then add.

Term to be subtracted = 4x2 - 9x + 7
Changing the sign of each term of the expression gives -4x2 + 9x - 7.
On adding:
(-2x2 - 13x+8)+-4x2 +9x-T7) =-2x2-13x+8-4x2 +9x-7
= (-2-4)x% +(-13+9)x + 8 -7
=-6x2 - 4x +1

Q8

Answer :

A=T7x2 + 5xy - 9)2
B=-4x2 + xy + 5)2
C=4y? - 3x? - 6xy

Substituting the values of A, B and C in A+B+C:
= (7% + 5xy - 9y2)+(—4x2 + xy + 5y2)+(4)2 - 3x2 - Bxy)
= Tx? + 5xy — 9y2-4x2 + xy + 5y2+4)2 - 3x2 - Gxy

Rearranging and COII-EC'(iI"Ig the like terms:
(7-4-3)%2 + (5+1-B)xy +(-9+5+4))2

= (0)x2 + (0)xy + (0)y?

=0

=A+B+C=0

Q9



Answer :

Let the expression to be added be X.

(5x3 - 2x2 + B + T)+X = (¥ + 3x2 - x + 1)

XK=+ 32— x+1)- (560 - 2x2 + 6x + 7)

Changing the sign of each term of the expression that is to be subtracted and then adding:
XK=(3+3x2—x+ 1)+ (-5x3 + 2x2-6x - 7)

X=x3+3x2 - x+ 153+ 2x2 - 6x- 7

Rearranging and collecting the like terms:
X=(1-5)%3 + (3+2)%2 +(-1-6) x + 1-7
X=-4x3 +5x2 - Tx -6

So, -4x3 + 5x2 - 7x -6 must be added to 5x% - 2x2 + 6x + 7 to get the sum as x3 + 3x2 — x + 1.

Q10

Answer:

P=al-b?+2ab
Q=a?+4b? - Gab
R=b2+6
S=a’-4ab
T=-2a’+p’-ab+a

Adding P, Q, Rand S:

P+0+R+S

= (a2 - b? + 2ab)+(a? + 4b2 - Bab)+{b? + 6)+(a2 - dab )
=a? - b? + 2ab+a? + 4b? - Gab+b? + 6+a? - dab

Rearranging and collecting the like terms:
= (1+1+1)a +(-1+4+1) b? + (2-6-4)ab+6
P+Q+R+S = 3a? +4b? - 8ab+6

Tofind P +Q + R+ S~ T, subiract T = (-2a% + b? - ab + a) from P+Q+R+S = (3a? +4b? - 8ab+6).

On changing the sign of each term of the expression that is to be subfracted and then adding:
Term to be subtracted = -2aZ+b?-ab+a

Changing the sign of each term of the expression gives 2a? - b2 + ab - a.

Now add:

(332 +4b? - 8ab+6)+(2a2 - b2 + ab - a) = 3aZ +4b? - Bab+6+2aZ-b? +ab-a

= (3+2)aZ +(4-1) b2 +(-8+1) ab - a+6

P+Q+R+S-T=5a2+3b2 -7 ab - a+6

Q11

Answer :

Let the expression to be subtracted be X

(@®-4a2+5a-6)-X=(a?-2a+1)

X=(a-4aZ+5a-6)-(aZ-2a+1)

Since '-' sign precedes the parenthesis, we remove it and change the sign of each term within the
parenthesis.

X=a’-4a2+5a-6-a?+2a-1

Rearranging and collecting the like terms:

X=a%+(-4-1)a + (5+2)a -6 - 1

X=a’-5a’+7a-7

So, a® -5a2 + 7a - 7 must be subtracted from a° - 4a% + 5a - 6 to obtain a2 - 2a + 1.

Q12



Answer :

To calculate how much is a + 2b - 3c greater than 2a - 3b + ¢, we have to subiract 2a - 3b + c from a +
2b - 3c.

Change the sign of each term of the expression that is to be subtracted and then add.

Term to be subtracted =2a -3b +cC

Changing the sign of each term of the expression gives -2a + 3b - c.
On adding:

(a+2b-3c)+-2a+3b-c)

=a+2b-3c-2a+3b-cC

=({1-2)a + (243)b +(- 3-1)c

=-a+5b-4c

Q13

Answer :

To calculate how much less than x — 2y + 3z is 2x — 4y - Z, we have to subtract 2x - 4y — Z from x - 2y +
3z.

Change the sign of each term of the expression that is to be subtracted and then add.

Term to be subtracted = 2x -4y -z

Changing the sign of each term of the expression gives -2x + 4y + z.
On adding:
(X =2y +3Z)H-2x+ Ay + Z)
=X-2y+3z-2x+ 4y +Z
= (1-2)x +(-2+4)y + (3+1)z
=X +2y +4z

Q14

Answer :

To calculate how much does 3x2 - 5x + 6 exceed x* - x2 + 4x — 1, we have to subtract x® - x2 + 4x - 1
from 3x% - 5x + 6.

Change the sign of each term of the expression that is to be subtracted and then add.

Term to be subtracted = x3 — xZ + 4x - 1
Changing the sign of each term of the expression gives -x? + x2 - dx + 1.
On adding:
(3x2 - 5x + B3+ xZ-dx + 1)
=3x2 - 65X + 633 + X2 - dx + 1
= o3 + (34162 +(-5-4)x+6 + 1
=x3+4x2-9x+7

Q15



Answer:

Add 5X — 4y + 6z and —-8x +y - 2z.

(5% — 4y + 6z )+(-8Bx +y — 27)
=X -4y +6Z-8Bx+y-2zZ

= (5-8)x +(-4+1)y + (6-2)z
=-3x =3y +4z

Adding 12x -y + 3z and -3x + 5y — 8z:
(12x -y + 3z )+(-3x + 5y - 8z)
=12x-y+3z-3x+ 5y -8z

= (12-3)x +{-1+5)y + (3-8)z

= 9x H4y -5z

Subtract -3x — 3y + 42 from 9x +4y -52.
Change the sign of each term of the expression that is to be subtracted and then add.

Term to be subfracted = -3x - 3y + 4z
Changing the sign of each term of the expression gives 3x + 3y - 4z
On adding:

(9% +4y -5z)+(3x+ 3y -4z)

= 9x +dy -5z+3x + 3y - 4z

= (9+3)x +(4+3)y + (-5-4)z

=12x +7y -9z

Q16

Answer :

To calculate how much is 2x — 3y + 4z greater than 2x + 5y — 6z + 2, we have fo subtract 2x + 5y - 62 +
2 from 2x — 3y + 4z.

Change the sign of each term of the expression that is to be subtracted and then add.

Term to be subtracted = 2x + 5y -6z + 2
Changing the sign of each term of the expression gives -2x - 5y + 6z - 2.
On adding:

(2% — 3y +4Z )+(-2x -5y +BZ- 2 )

=2x -3y +4z-2x-5y+6z-2

= (2-2)x + (-3-B)y +{4+6)z-2

= 0-8y+10z-2

= -By+10z-2

Q17

Answer :

To calculate how much does 1 exceed 2x-3y-4, we have to subtract 2x-3y-4 from 1.
Change the sign of each term of the expression to be subtracted and then add.

Term to be subtracted = 2x-3y-4
Changing the sign of each term of the expression gives -2x+3y+4.
On adding:

(1)+(-2x+3y+4 )

=1-2x+3y+4

= 5-2xX+3y



Algebraic Expressions
Exercise 8D

Q1

Answer:

a-(b-2a)

Here, '-' sign precedes the parenthesis. So, we will remove it and change the sign of each term within
the parenthesis.

=a-b+2a

=3a-b

Q2

Answer:

4% — (3y - X+ 22)

Here, '-' sign precedes the parenthesis. So, we will remove it and change the sign of each term within
the parenthesis.

=4x -3y +x-2z2

=5x-3y-2z
Q3
Answer:

(a2 + b2 + 2ab) - (a2 + b2 - 2ab)

Here, '-' sign precedes the second parenthesis. So, we will remove it and change the sign of each term
within the parenthesis.

aZ+b? +2ab - a2 - b? +2ab

Rearranging and collecting the like terms:
a? — a’ +b? - b? + 2ab + 2ab

=(1 - 1)aZ + (1- 1)b2 + (2 + 2)ab

=0+ 0 +4ab

=4ab

Q4



Answer :

-3(a+b)+4(2a-3b)-(2a-Db)

Here, '~' sign precedes the first and the third parenthesis. So, we will remove them and change the sign
of each term within the two parenthesis.

=-3a-3b+(4x2a)-(4x3b)-2a+Db

=-3a-3b+83a-12b-2a+b

Rearranging and collecting the like terms:
-3a+8a-2a-3b-12b+Db
=(-3+8-2)a+(-3-12+1)b

=3a -14b

Q5

Answer :

-4x2 + {(2x? - 3) - (4 - 3x%)}
We will first remove the innermost grouping symbol ( ) and then { }.

& —4x7 + {(2x7 - 3) - (4 - 3x?)]
=-dx2 + {262 -3 - 4+ 3x%)
=—4x2 + {6x2 - T}
=-4x2+5x2 -7

=x2-7

Qé

ANnswer :

=202 = 2 + xy) -3(x2 + 2 - xy)

Here a '-' sign precedes both the parenthesis. So, we will remove them and change the sign of each
term within the two parenthesis.

=-2x2 +2)2 - 2xy -3x2 - 32 + 3xy

=(-2 -3 +H2 - 3)2 + (-2 + Ay

=-5x2 - 2 + xy

Q7

Answer:

a-[2b-{3a- (20 - 3c)}
We will first remove the innermost grouping symbol ( ), followed by { }and then [ ].

~a-[2b-{3a-(2b- 3}
=a-[2b-{3a-2b+ 3c)]
=a-[2b-3a+2b-3q]
=a-[4b-3a-3c]
=a-4b+3a+3c
=4a-4b+3c

Q8

Answer :

=X+ [5y — {x = (5y - 2x)}]
We will first remove the innermost grouping symbal ( ). followed by { }and then [ 1.

A =X+ [5y — {x - (5y — 2x)}]
=X +[5y —{x -5y + 2x}]
==+ [5y — {3x - 5y}
=X + [5y — 3x + 5y]

=X+ [10y - 3]
=-x+ 10y - 3x

= —4x+ 10y

Q9



Answer:

86 - [15x - 7(6x — 9) =2{10x - 5(2 - 3x)}]
We will first remove the innermost grouping symbeol ( ), followed by { }and then[ ].

2 86 — [15% - T(6x — 9) —2{10x - 5(2 - 3x)}]
= 86 — [15% — 42% + 63 —2{10x — 10 + 15x}]
= 86 — [15X — 42X + 63 —2{25x — 10}]

= 86 — [15X — 42X + 63 —50x + 20]

=86 —[- T7x+83]

=86+ 77x- 83

=TTx+3

Q10

Answer :

12x - [3x% + 5x2 = {7x2 — (4 - 3x - x%) + 6x%) - 3x]
We will first remove the innermost grouping symbaol ( ), followed by { }and then [ .

2120 - [3x3 + 532 - {Ta2 — (4 - 3x — x%) + 6% — 3x]
=12x - [3x3 + 5x2 — {7x2 — 4 + 3x + x3+ 6x%) — 3x]
=12x - [3 + 532 - {732 — 4 + 3x + ¥} - 3]

=12x - [3x3 + 5x2 - Txd + 4 — 3x - Tx® - 3x]

=12x - [ - 22 + 4 - 4x% - 6x]
=12x+ 262 - 4 + 4% + Bx
= 43 + 2%2 +18x-4

Q11

Answer:

5a-[a?-{2a(1 - a+4a?) - 3a(a? - 5a - 3)}] -8a
We will first remove the innermost grouping symbol ( ), followed by { }and then[ ]

»5a-[aZ-{2a(1-a +4a?) - 3a(a® - 5a - 3)}] -8a
=5a - [a2 - {2a - 2a% + 8a® - 3a® + 15a2 + 9a)] -8a
=5a - [a - {5a° + 13a2 + 11a}] - 8a

=5a - [a? - 5a® - 13a? -11a] - 8a

=5a-[-5a%- 12a% - 11a] - 8a

=5a+ 5a%+12a?+ 11a - 8a

=5a%+12a2 + 8a

Q12

Answer :

3-[x-{2y - (Sx+y - 3) + 2x% — (x* - 3y)]
We will first remove the innermost grouping symbaol ( ), followed by { }andthen[ ]

3-[x—{2y - (5x+y - 3) + 2x%} - (x% - 3y)]
=3 -[x—{2y - 5X-y + 3+ 2x3 — %2 + 3y]
3-—{y-5x+3+2x% —x@+ 3y]
=3-[x-y+5x-3-22-x2+ 3y
=3-[6x-3-3x2+2y]
=3-6xX+3+3x2-2y

=3x2 - 2y - 6x+6

Q13

Answer:

Xy —vz - zx - {yx - (3y — x2) - (xy - 2y)}]
We will first remove the innermaost grouping symbol ( ), followed by { }and then[ ].

XY = V2 - 2x = {yx = (3y - xz) - (xy - Zy)}]
=Xy - [yZ — 2% — {yx — 3y + XZ — xy + Zy}]
=xy-lz-zx-{-3y+xz+z))] (. xy =yx)
=Xy - [yZ - Zx + 3y - xZ - 2V]
=xy-[-2zx+ 3y ] (" ¥Z = By, ZX = XZ)
=Xy + 2Zx - 3y



Q14

Answer :

2a-3b-[3a-2b-{a-c—-(a-2b)}]
We will first remove the innermost grouping symbol ( ), followed by { }and then [ ].

~2a-3b-[3a-2b-{a-c-(a-2b)}]
=2a-3b-[3a-2b-{a-c-a+2b}
=2a-3b-[3a-2b-{-c +2b}]
=2a-3b-[3a-2b+c -2b]
=2a-3b-[3a-4b+c]
=2a-3b-3a+4db-c

=-a+b-c

Q15

Answer:

-a-[a+fa+b-2a-(a-2b)}-D]
We will first remove the innermost grouping symbol ( ), followed by { }and then [ ].

r-a-[a+{a+b-2a-(a-2b)}-Db]
=-a-[a+{a+b-2a-a+2b}-D]
=-a-[a+{3b-2a}-Db]
=-a-[a+3b-2a -Db]

=-a-[2b-a]
=-a-2b+a
=-2b

Q16

Answer :

2a- [4b—{4ar(3b—2:1+2b )}]
We will first remove the innermost grouping symbol bar bracket. Next, we will remove ( ), followed by {
Yandthen[ ]

= 2a-[4b-{da-(3b-2a+2b )}|
= 2a-[4b-{4a-(3b-2a-2b)}]

= 2a-[4b-{4a-(b-2a)}]

= 2a-[4b-{4a-b+2a}]
=2a-[4b-{6a-b}]

= 2a-[4b-6a+h]

= 2a-[5b-63a]

= 2a-5b+6a

= Ba-5b

Q17

Answer :

Sx —[dy —{Tx —(3z-2y)+ 4z - 3(x+ 3y - 22)}]
We will first remove the innermost grouping symbol ( ), followed by { }and then[ 1.

ABx -y -{Tx—-(3z-2y)+4z - 3(x + 3y - 22)}]
=bx-[4y-{Tx-3z+2y+4z-3x -9y +62}]
=6x - [y - {4x + Tz - T}

=5x - [4y — 4x -7z + TY]

=8x - [y -4x-7z]

=bx-NMy+4x+7z

=9x-1My+7z
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